
Technical English Level 4

Progress Test 2 Answer Key

Section 1 – Vocabulary

1

1 computerised / 2 detects / 3 controller / 4 interprets / 5 actuator / 6 establishes / 7 relinquishes 8 regains / 9 retains. 10 activates

2

11 build-up / 12 take off / 13 input / 14 overflow / 15 takeover

Section 2 – Language

3

16 off / 17 However/But / 18 down / 19 while/as / 20 checked/fixed / 21 down / 22 carrying /
23 find / 24 Although / 25 on / 26 whereas / 27 rule / 28 off / 29 back / 30 on

Section 3 Reading 

4

31 NG / 32 F / 33 NG / 34 T / 35 NG / 36 F / 37 F / 38 T / 39 F / 40 F
Section 4 – Writing

5 Sample answers:

41/42 XBZ Cars have recalled their model 050 due to a potential problem with brakes.

43/44 In rare instances, the braking mechanism gets stuck and the car is unable to move.

45/46 Although no accidents have been reported, we advise our customers to contact their local dealer.
47/48 A free inspection will be carried out as a precaution.
49/50 XBZ takes safety very seriously and apologises for any inconvenience caused.
Section 5 – Listening

6

51 F / 52 F / 53 F / 54 T / 55 NG / 56 NG / 57 T / 58 F / 59 T / 60 T
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